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“If Miranda does not take a course 1n discrete
S mathematics
then she will not graduate. It Miranda does not graduate, then she is not qualified for the job." “Tt

Mﬁranda reads this book, then she is qualified for the job.” “Miranda does not take a course in discrete
mathemaucs but she reads this book.” Justify your answer.

) Show that —(p V (—p A ¢)) and —p A —q are logically equivalent by developing a series of logical
equivalences. (10 M)
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fquanuﬁers and predicates to express these statements.

a, 5Every computer science student needs a course in discrete mathematics.

*'Ihe:re 1S a student in this class who owns a personal computer.

) Svery student in this class has taken at least one computer science course.

There is a student in this class who has taken at least one course in computer science

Very student in this class has been 1in every building on campus. (10 M)

l. (@) Are these statements co nsistent:

| ﬂ:‘e rule of inferences to get the conclusion.

g If 1818 Saturday today, then we play soccer or basketball,

.E_If the soccer field is occupied, we don't pLu SOCCET.
(3) It is Saturday today, and the soccer field is occupied.

"‘? L_ usion: “We play basketball or volley ball”.
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) stl.ldent is asked to verify whether the tollmx ing statements about an integer T are equivalent:
Can you make a conclusion? Answer with

‘ “a 1s even, (12) x + 5 is odd, (2t 2 is even.
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(10 M)

"‘k" the Bollowing formula into a CNEusing equivalent transformanons. b b
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combination of 26 and 91.
. an algorithm to eXpress ged (26, 91) as;alm ear ~ (M)
21)3 to its binary expansion. . &
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